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Explanations and answers to select questions

01. The four types of genders as recognised by English grammar as of today, are :
Masculine, Feminine, Common and Neuter. The first three are for animals or living
creatures and neuter is for inanimate or lifeless things/objects. The common gender
refers to the names of species, such as eagle, crow, crocodile, where the gender cannot
be easily known or the names of communities such as Hindus, Sikhs, where all
genders are covered. So, option ‘C’ is the correct answer.

09. ‘Everywhere’ is not an adjective. Option ‘B’ is the correct answer. All questions are
framed within the purview of Oxford English Learner’s Dictionary, 8th edition
published in 2014.

14. Here, the contextual meaning is what a student has to consider in order to guess the
correct word for the blank. And ‘industrious’ fits in well as can be seen by the
following words ‘and thus worked very hard’. (This is not about collocations.
Moreover, collocation is a combination of words that happens very often than would
happen by chance; but that is not a rule.) So, option ‘B’ is the correct answer.

26. In case of reciprocal pronouns, ‘each other’ is used when reference is made only to
two persons. And when it is made to more than two persons, (as in here, ‘staff of a
bank’ which will naturally be more than two in number), we need to use ‘one another’.
So, option ‘C’ is the correct answer.

43. Here the word ‘next’ clearly refers to the word ‘point” (which is understood though
not expressed). Hence in ‘next point’, ‘next’ is an adjective and so, option A’ is the
correct answer.
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